[ Efficiency vs vertpos |

0.4

0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02
0.0

.................................................

T

o

0

1

0.9

TTTT [ T T T '”'|””q””|'”'Ln'”'|”.n.”'””'””'””'””

0.8 . . .
1072 107 1 10 10?

Efficiond —— DQM_modified
ICIeNd _,__ pQM_modified_diter-NewERR

—=— /data2/legianni/JSON-bkwd-fwd/no-modif/CMSSW_13_0_X_2023-01-24-1100/src/DQM_original

0.2
0.18
0.16
0.14
0.12

0.1
0.08
0.06)

0.041r

0.02

TTTTIT

o

Il

=30 -20 -10 0 10 20 30

[ Efficiency vs. sim PV z |

0.1
0.09
0.08
0.07
0.06)
0.05
0.04
0.03
0.02

0.0

I
i
1
A=
¥

51510 5 0 5 10 1b 20




	Contents
	Page 1


